
10 marks Short Answer Criteria 
 
0  Completely Inappropriate answer.  
 
1–3  Little understanding of the specific demands of the question. 
Very little recognition of relevant historical context. 
 Significant errors. 
 
4–6  Some understanding of the specific demands of the question. 

Some recognition of relevant historical context 

Some relevant details included. 
Some errors. 
 
7–8  Understanding of the specific demands of the question 
Clearly stated main idea 
Relevant historical context explained and developed. 
Relevant and supporting historical details included  
Few errors. 
 
9–10  Clear understanding of the specific demands of the question 
Clearly stated main idea 
Relevant historical context explained and effectively developed. 
Supporting historical details effectively applied  
No significant errors. 
 
 
Question words: 
Explain 
Describe 
What 
Compare 
 


